Math 152 Sec S1I0NO1 - Test 3 Mar 30 2010

Question 1:

(a)[5 points] Solve the following for 0 < 8 < 2m: 4sin?f = —3 — 8sind .
el & +P51nd +3 =0
"\giV\?'G + 95O ~+ bsin& + 3 =0
2sinQ (ls{va +\) + 3 (15{w9 + \) =0

(238 +1) (251m6 +3)

60 zsiwe +| =0 25me +2 =0
Sing = v'L sine = 3
2
\_—-—..W
e ) — ? o Soludt ons.

(b)[5 points] Solve the following for 0 < § < 2m:  sin(260)sinf = cos @ .

sin (26) Sing = cos &

LS & oSG SIS = o3&
[z S - )]ws& =0

ZS{W'LG;\ =0  Cose =0
SwWos 3 o= T I
Swm & = J%— ) }—55—
A
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Question 2:

(a)[4 points] A right angle triangle has C = 90°, a = 2 and b = 8. Determine the values of the
remaining angles A and B, and the length of the remaining side c¢. Round all final answers to

two decimal places.
L alateb® =gt &
(%) * ~
o (L) = FEAC)

)
"

)

=9

EUNY
"

a=2_

(b)[6 points] Two planes flying along the same straight line at an altitude of 2000 m pass directly
over an observer. A few moments later, the observer on the ground measures the angle of
elevation to the nearer plane to be 47°, while that to the more distant plane is 32°. How far
apart are the planes when the angle measurements are made? Round your final answer to one

decimal place.
' Ry Dy

2000 m

N 2o o . 2000
tan (329 3+ 7 37 a2
o (43) = roo . 2000

x 7 el

p. 3of 7



)

|

Math 152 Sec S10NO1 ~ Test 3 Mar 30 2010

Question 3:

(a)[7 points] There are two triangles for which b = 4, ¢ = 5 and B = 40°: determine the
remaining sides and angles for each. Round all final answers to two decimal places.

(3]

‘S(V\ g S;V\q

b (ose 2%
L= siv [cwﬂ] ' C % o -53. 64|

o [SS«w(HO")] = 126.53S55

7 |
v £3.404 | AR BT RC
' = 180°-40°-126.535%"

;o A= lgd’-3-C

= 13.964/°

O _ 1 0_ b‘-‘ . . N
\ §0 Yo gg“t \ a = bsn,\_pr; "“ Snw(lgqeqﬁ

X $.5359" Sin B NET)
s & o sin 8 | = .44 29
S o
5 ool= bsw A o 4 st (6.5357 )x LS oA LHS
swn % SV‘O‘LOD) A~ 12.46°
Greal, A% Te.54 €% s34 ¢ % 126.59°

(b)[3 points] Determine the number of possible triangles for which a = 2, ¢ =1 and C = 100°.
The answer is either 0, 1 or 2; it is not necessary to solve the resulting triangle(s).

sm A _ s C

—————

Q C

aswC _ 2 son (100°%)

Yo Simpr:
’ ~ C a

~ (.96406

st A T 1A696 s we SoluB o simce —\ss'mprél)

S0 Tlere ZS_ M'tw'a%\e J}w’wwm Gk=l)c/:\MC=\OOo.

p. 4of7



Math 152 Sec S10NO1 -~ Test 3 Mar 30 2010

Question 4:

(a)[5 points] Nassau (Bahamas) is 295 km due east of Miami. The city of Bangor (Maine) is
northeast of both cities. The distance from Nassau to Bangor is 2323 km, while Miami to
Bangor is 2350 km. What bearing would a plane need to take to fly from Nassau to Bangor?
Round your final answer one decimal places. '

7350

Z

245+ 232321(2_) (zas"){zz 23) cos (A).

W

H A= Oogl[ 26524—237’3,—'135'07'
(2)(245)(2323)

~ A1.636%F

o= 4-90 = \.6

F'%mv{'vg Should br N 1.6 EJ

(b)[5 points] A triangle has sides a = 8, b = 5 and ¢ = 4. Determine the sizes of the angles A,
B and C. Round all final answers to two decimal places. g

o= azi-\al ~ 2abh WS (C)
oo C = C,osq l: o}“'bl -CL ] o ©

Lob b A
= ODSV\ ?zi' SZ” L'L4]
2)(=)s)
£ 241469 ° |
A e,z L1
A = cos. Raect-at | . s‘[g T4-8 |~ 1250710
ZbC 2 )(5) (4)
B= cos’ [ohct—b"l = cos [?lw"- st 30,3935
(Z)ac (2)e)) |

EA* 12510 , = 30.%503 C = w,@
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Question 5 [10 points]: Solve the following system of equations using matrix reduction (no
credit will be given for using any other method). Clearly state the row operations used at each step
and clearly state the solution set.

—2z+5y—19z=1

z—2y+7z=1
3z—-3y+92=6

o S T {A\
2 F |
3 3 b
B T]e]
WY, ﬁr \ | - F |1
-2 5 |
3 3 9 (6
L
P\f’ MEAEE: "'\ -2 4 | . )
(= aneE [0 1 7S |3 e .
o 3 -x |3 h= 35E -3+36) = 3
| |
(= | 2w 42
e ‘3‘(;@'- Lo F ) x= é *
o |\ 5|3 =L+ 2 () - H)
O -
© 5 Te = =14ty
= |
Rede: [0 -2 F)0 |
0 [ T 2 o ’L:l) Lg: -4)%:‘%
o O | |72 \
J
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